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Rase Cace 1 : e = %, & vanable,

Then FV(E) ¥ ’i"(}) so ix}gr' means xel, Thus bj
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The Trel Hyp s
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R (zv2) V', BV(e)EM =5 T e, ok
Thewn
(3) Nie, oh by (1) and (Th2)
(M) Muixl ke, ok .by&) avdt (TH2)
Then (3) andl (W) and Hhe Let rule give Pheeck. X
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3. eFhe and ebde, =0 g ze,.
Proot by incluchion on the derwation of e - e,. (ie. by
rule mduchon on the rules Sor !—>3-

'T_?mse Cace 1. evve, b)f E,, the -plus medruetion.

Thewn &:"p\us(\m)nx ond €= P where P=min
Then the bh\y rule by whice epF>e, 18 B 4 So &,
must be p as well, Hence e =p=e;. a
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Base fage 2. er>e, b\i €, the let motruetion.
Then e = let(n,x.e') and e = infxte’,
“The on Iy rule that matches & 1€ Ty | S0 €€,

by the some rule, fo &, = fn,’x’&&’ =e,, 1

Ind. Lase L, er>e, by E,, the le¥t plus seacch rule .

“Then e = 'plus(&'peq\ amel e = plus (ez’be“
where €4 k325 The mduction hypethess &5
“The bh\/ rule b}/ which eF>e, Can be deduced s
E;,b 17 Q’es, ‘e_z—.;"?lus(es‘;e,‘\b and e, >e5 .
Bu‘t b‘j +he (IH)) 't&hl\\/\s -R = E; aVLA 'Cz > 95’ "
we have &3, 0 cg . “But theu e.= P‘w& Ce,ﬂe.t\)
= palefiey)=¢e. B

Al Hhe ether search vule cages follow Hhe same
pattern, with mihor, and obvious changes |




